= -||18
www.wbcsmadeeasy.in €s(0) CE-l

2018

GINEERING - PAPER-I
CIVILEN i ket 200

A!Iowed - 3 Hours

only the questions attempted

i of the prescribed number,
aticHiplel IR 3 ning ones ignored.

e questiop to the prescribed number shall be valued and the remai

first u
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in one and the same language. .
ons/symbols have their usual meanings, unless otherwise specified

All notati

GROUP = A
Answer any four questions | f

re. rests on a soft clay soil, with its base

$(a) A f°°§§§%h2§fs§?§m from ground surface. The clay stratum is

' atﬁg thick and is underlainby & firm sand stratum. The caazon
2511 has LL = 30%, G = 2.7, water content at saturation ’
Sohesion = 0.5Kg./cm?($ = 0). It is found that the cla{ 3
stratum is normally consolidasted. Cempute the settlemin ora
would result if the load intenaity equal to safe bear n% e
soil were allowed to act on the footing. Natural watez a
is quite close to the ground surface. For given condi %og:,
pearing capacity factor (N ) is obtained as 6.9. Take fa ir
of safety a2 3. Assume 1oad spread of 2(vertical) to 1(hor EO
zontall. b

§ t+ical bank was formed during the excavation of a 80

> ga:i;ngbﬂ 15° and unit weight of 1800 kg/m3, When the depth
of excavation reached 5.5 m, the benk failed. What was the
approximete value of the cohezion ¢f the clay 7 15

$(2) At & given site the subsoil consists of a 10m thick homogeneous
ssnd stratum, The dry Gensity of the sand is 15.5 kN/m3 and its
angle of internal friction is 32 . The specific gravity of .
solids is 2.68. Initially the ground water table is at 6.5m

below the ground level,

(£) Determine the shear strength of the sand on horizontal
plane through its middle ; and

(ii) Find the percent change in the shear strength if the
ground water table rises to a level of 1.5m below GL
during monsoon. Assume the void ratio to remain unchanged.

5 + 10

{b) The following results were obtained from a standard proctor
test : Given that, the internal diameter and height of the
mould were 10cm and 12.7cm respectively. The mass of the
empty mould = 1,89 kg. and G = 2.68,

No. of Test 1 2 3 b 5 6

Mass of mould 3526 3711 3797 3906 3924 3882
and soil (g)

ter content (%) 8.33 10.40 12.23 16.20 17.92 20.39

paction curve, Hence determine the optimum moisture
aximum dry density of the seil. pt lgr

trated force of 40 kN is acting at a point
face, mtﬂum the vertical stress intensities
at the following points -

f 2.50 b GL on the line of action of the
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